Roll No:-
Sem-V Diploma Exam 2023 (Odd)

(Electronics & Communication Engineering (38) Electronics Engineering (21) / Instrumentation and

Control Engineering (40)) (Theory)
[Time: 3 Hours] Radio & Telecommunication System (1621503)

- All questions are compulsory. (&t ws1 s1ftam 2 |)

[Max. Marks: 70]

- Marks are mentioned on the right side of each question. (3= @t ws1 & 315 TR siferd forar 2|)

Group (A) (a7 -v)

Q.1  Choose the most suitable answer from the following options.
(wariferen suiw forered @t gat fored |): -

I. The main advantage of PCM signal is -----------

(PCM ferret =it e &m @ -----)
(@) lower bandwidth (b) higher bandwidth (c) lower noise
(e Hzierd ) (s Hesherd) (< Frermeer )

ii. FM bandwidth is about ----- KHz

(2)200 (0)100 (c) 50

(a@)vertically (b)Horizontally (c)bothaand b
(GEERD) (GIEEED) (=7 st s g )
Iv.  An active satellite has (afs 37w # €er € ------ )
(a) antenna (b) transmitter (c) power system
(Tm) (zratet ) (wrfes sromredt )
V. Circular polarization occurs in ----------=------- antenna
(ot efteRor ----U T 7 BT )
(@)yagi (arft) (b)horn (&) (c) helical (zfe=e )
vi.  The distance of synchronous satellite from earth surface is nearly
(gecft Y wE T Rshie STE BT ST AT - —2Idt 2 )
(2)10,000km (b)20,000km (c)30,000km
vii.  How many satellite are required for global communication?
(-vieel @an % fog 3w i T frat 2rft )
(@)1 (b) 2 ()3
viii.  The maximum directive gain is called --------------
(=Aferepaw erEtfored 1 ------ FHEATT T )
(a)sensitivity (b)selectivity (c) directivity
(GRIEEIEED) (St ) (erSfarefad)
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(1*20=20)

(d) higher noise
(SaIR e )

(d) 10

(d)none of these

(3 | =7g 7 )

(d) all of the above

(3 &t )

(d) parabolic (amsifes)

(d)36,000km

(d)4

(d) none of these
(5778 & g T )

(1621503)



iX.

----uses frequencies between 550KHz to 1650 KHz

[ 550KHz & 1650 KHz % sfrer &t straft 1 ST sar © )

(@)A.M. transmitter (b)F.M transmitter

(A.M. ziaHiex ) (F.M giwfer)
X. For standard F.M receiver |.F is -------==-----
(= F.M fifear & for ILF --- g ? )
(@) 10.7 KHz (b) 10.7 MHz
Xi. Range of sky wave propagation is ------
(T T ST i AT - Bt R )
(@)3to 10 KHz (b)2 to 30MHz
(3% 10 KHz) (2 & 30MHz)
xii.  Isotropic antenna radiator it power -----

(STEEIEIR AT 37U TR T fIfeRToT -----htaT 7 )

(a)in horizontal direction only

(Fa &fast feem )
(b)in vertical direction only

(Fat deraa feem & )

xiii.  Helical antenna gain depends on

(fetehet TR T 1 - fsft e 7 )
(a) helix diameter (b) number of turns

(c)Rader (d)none of these
(wrew ) (5778 & ¢ 7 )
(c) 455 KHz (d) 455MHz

(c) 30 to 300Hz
(30 & 300Hz)

(d) 2 to 30 KHz
(2% 30 KHz)

(c)in all direction uniformly
(Tt foemei § TE €T H )
(d)none of these
(3T | g 7 )

(c) wavelength (d) all of these

B (e 1 e ) (a3 ) P
xiv.  Frequency range of Ku-band is --------------
(Kuste r armafir s -2t 2)
(2)12-18 GHz (b)18-27 GHz (c) 27-40GHz (d) none of these (st & 1§ )

XV.
(3T & TSR I T TG § T SN -------- )

(a)is increased (b) is decreased

(5 STt @) (e Tt 3)

LEO satellites are located at attitudes
(LEO g ------Ft $raré w feog 2 )
(a) between 500 to 2000 km

(500 & 2000 km = sfi=r )

(b) between 5000 to 15000 km

(5000 & 15000 km = sf=r)

XVi.

xvii.  Crossbar switching is an example of
(s ST -~ yomeft #r 3arer )
(a)electronic (b)mechanical

(STt ) (i )

If target approaches the radar, then frequency

(c)remains constant
(R ?)

(d) none of these
(578 & g T )

(c)between 15000 to 30000 km
(15000 & 30000 km & sf=r )
(d) none of these
(570 & 1 7 )

------ switching system

(c) electromechanical
(ferege i )

(d) none of these
(38 @ g T2 )
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xviii. The problem of blind speed can be removed by variable ----
(e Trfer 2T HHEAT ----sTge | T ST Heel @ )
(a)PRF (b)PRT (c)PW

xiX.  Which of the following is not a LAN?

(F@a = LANTE?)
(a) PBX system (b) office building system (c) hospital system
(PBX orreft ) (Fraier o woTedt ) (eTTaTet yomet )

xX.  Theaudio signal in TV broadcasting is modulated by ------
(TV v&mor & shifeat T ----Higa = & 2 )
(a)AM (b)FM (c) PCM

Group (B) (7w -=f)
Q.2 Explain the principle of heterodyning
(faferer safaam o foreaia it smen #t )
OR (areram)
Compare the performance of AM and FM receivers
(AM sk FMfedtadd o shreispererdr sl g & )

Q.3 Explain ground wave propagation
(9 —FT SR AT SIREAT L )

OR (areram)
Define the following terms
1)critical frequency 2) maximum usable frequency
(freferfaa et s aftafyg st )
1) sifies st 2) sAfereRad JENT A AR ST )

Q.4 State the characteristics of ionospheric wave propagation
(et qaT TR T faRivTe sam )
OR (ateram)
Define directivity and radiation intensity of antenna
(T st fsfreran i farfsror dftsrar i uftenfia =t )

Q.5 Explain the different element of RADAR system

(T=R yomredt o fafi=T staeat i et # )

OR (ateram)
Explain time division switching in brief
(erm fefasm whfe i daw # samer )

Q.6 Define satellite explain in brief geostationary satellite
(ST T ANATING i [MEATTR STUE T Hard H AT L )

OR (ateram)
Write short notes on the following
1) modern 2) Duplexer
(Frafafaa oat w wfew fewoft foer
1) sem 2) griR)
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(d)all of these (s & wft)

(d) cable TV system

(3o TV sorreft )

(d) VSB

(1621503)



Q.7

Q.8

Q.9

Q.10

Q.11

Group (C) (gv - #)

Draw block diagram of FM transmitter and explain the function of its each block

(FM ziesiiex %1 @ve AT Wi 31 36 TolT @S o F1 ohl ATl L )
OR (sreram)

Explain space wave propogation prove that line of sight distance d = 3.57[VAt + V/Ar Jkm where

symbol have their usual meaning (consider earth’s surface is leaf)

[op}

(e T ST 61 ST (@i A i aee gid = 3.57[VAL + VAT | km @t & st ford

T 31k @ (et Y T gEae 6 )

Explain the working principle of horn antenna
(B 4T o = feaia <t s )
OR (sreram)
Explain the following terms
1) ISDN
2) Telephone network
(Frferfia et i =amean sy
1) ISDN
2) A Jeash )

Draw block diagram of MTI RADAR and explain its working principle
(MTI TeR & @ve 1@ &I Tie 371 36 Frl feaia i amea L )
OR (sreram)
State the different types of satellite explain the basic principle of remote sensing
(3mrE o fafsr= wehme fored fefte |iftT o et Rt ot samear #Y )

Explain the working of optical fibre transmission system state some of its application
(Sifeshet HTEeR ZIATRT SUTCH % Y i ARG L §6h FS LM &l fore )
OR (steram)
Define telephone switching explain in brief crossbar switching
(i hfe w6t aftaTiyd s sher S Tt st Hay & et &)

Define fading distinguish between radio horizon and optical horizon
(Ffe =t o & | & fafas oiR siiftesra faafst o sffer ofaR s )
OR (steram)
Draw block diagram of TRF receiver and explain the function of its each block
(TRF fif¥rar =1 @ve 3@ e 371 36k T @UE o 1 hi AT )
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